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1. Let f(z) = 2 — 62 + 9. If (a,b) is the inflection point of the graph of f, then

a+b=
{1(,0 = 3x’-12x~ 9
3
((3 1 f‘tk) = bx-\2

fooze =2 *=7F

e — N -+
=== R

(e) 0 2
C—?,’g(2)> 1S ‘f»\é ‘\f\g'\ec, Town ’?\‘ .

£(2) = S-64) +4(2) = %L

b

(q,b) =(2,2) = a+b= |

2. If y = 22 — 3, then the equation of the tangent line at the point (1, —2) is

'
(a) y =2z 3'” 24 \
(b) y=22+4 y'(h=2 = Spe=2
rsety =20
(e) y=2x—3 \‘3; 24-4 E
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3. The area of the region bounded by the graphs y = v/z and y =z is

N
1 VX = %
(3)5
(b) 2 = A=0,)
7 ~
(C)g \ \
|
) = — 3
e
o
')L:\ ‘)(:"
3/2 2
= 2% - X
3 A=0O - A=0
= 2 1 = L
3 2 6

4. Let f(z,y) = 2® — 4o + 2y° + 4y + 7. If f has a critical point at (a,b),
then a + b =

5,: IA =Y =0 = k=2

(a) 2

(b) —2 fy= #yrtze > y=-
(c) —1

@ 0 (o, b) = (2,-))

(e) 1

a+bv=)
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5.1 f(z) = 2% — 622 + 122 — 6, then

(a) f has a relative maximum at z = 2.

@ f has no relative maximum or relative minimum.
(c) f is decreasing on (—00,2).
(d) f has a relative minimum at x = 2.

(e) f is concave up on (—o0,2).
/

L

’ 2 2
S =35 12k = 3 (1-2)

g “\015 NO Yf‘ﬂ\x;\)é maoxt- OfY Tett\“\\)é Mmin

&2
6'/33+5 ds =
).() w = 53+ 5 |
2 = A&’- o
\<a>§lnls +5]+¢ > du= 35 35>
(b) ln|s|—|—c
(c) = 111|3 + 5|+ ¢ 51 AS _ f _42;_,
(d)3ln|8 +5|+ e 3,5 W 35/
S+5
(e) In|s® + 5|+ ¢
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7. /sin (2z) dx =

(a) % cos (2z) + ¢
(b) —% cos(z)+c¢
(c) —% cos (2z) + ¢

(d) % cos (z) + ¢
(e) 2cos(2z)+c
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Lb w=2%x > du= Q.AX

=) clx: clb(
2

ga?nu. _é& = l?'_ Ss:mxé\&
2

-—

8. If f(z,y) = 6zy?, then fr,(—1,1) =

@) 12) §x = 69"
(b) —12
(c) —6 4:3“3 = 124
() 6
(e) Y = \L

- =l gos(ay) + ¢
2
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9. /a:\/:zc2+5 dr =

(z2 + 5)2
(a) —5——+c

(z2 +5)2
(b) 3 +c

(c) (z —;5)5 +c

9
(d) v ;5—0—0
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Led w = £ +5 = du= 2% dx

> dx= du

QA
du_ = )‘S\KCXU
@W;; =
3z
= ilﬁ/__.‘—c
3/,,/

. >
= %— (7(4‘5) A C

10. If  f(x) = % ., then f7(2) =
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11. lim ! = -'L; - —ao0
5" T — D 6
(b) 1
(¢ 0
(d) —1
(e) oo

dz
12. f z=u?>+ Vu+9and u=2s>—1, then = when s = —1 is
s

(a) 10 dz - dz  du oI Duc |
b) —5 1s T s \ Jy g=-1Du

(c) —12

(d) 5 _ \

- (ram) ()

———

- [2r2) (1)

= -——IO
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1
13. / (32% — 22+ 1) dx =
—1

T

(a) 5 X - %X + X _x
(b) 4 ¥ =)
(c) =2
(d) 3 | 4) - -\—\—\>
(€) ~1 . (

- \+3

= 4

14. If ¢(q) = 0.1¢° + 3¢+ 2, is the cost function, then the marginal cost at ¢ =3 is

(a) 3.2 é_?_‘; 0_2_(:1{_\__3

(b) 3.6 A%

(c) 4.8

(d) 3

(e) 5.6 ,A,.(.’—— _ 3. é
1
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15. If  f(x,y) = 22° + 3zy, then f,(1,1) =
(a) 3 —
(b) 4 O(X = Hx+ 33

7

()6 ')(x(\«\> =7

(e) 5

2 _ 2
16./3:1; Inz de = Lcl‘ y = ch ) A‘\f: 3% AX
3(,3
- ) A =
3 - 5
(a) 2°Inx — %——Fc du *

3

(b)xlnm——3—+c guA"\r' N gqgéu

(¢) ¥lnz — 2% +¢
3

(d) 33z — — + ¢
3 3 37
3 = X Qf‘\?L" g')( (/X-B(lx

(e) 2°Inx — 3 +c

)
Kbk = X & C

i
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17. The horizontal asymptote of the graph of the function f(z) = T
—
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213 + 9 .
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d
19. Given /ﬁ =) (ln|a+bu| + W) + ¢, then /m dx =

L(J‘- U=z X D AU*;('\X

1 2
— |1 2 .
(a)g(n]?)—!— x| + +2$>+c

o= b: 3
1
(b)9(1n|2+3x|-|— ) _ 5-*;‘(526\“
/ <>;Q11|2+3T|+ \ g(wy) ’
(d)1n|2+3a:|+2 o
L +C
(e);li(lnl2+3ﬂf|+z+3a;)+c ) lol“(@“‘m*%“]*:usu

dy
20. If y = tan (z°), then — =
y = tan (2°), then -

(a) 327 sec? (z?) —
(b) 3z%sec (z)
(d) z%sec? (x?)

(e) 2?sec? (2°)



